HERMRETRNEERARRERR

— RE#ERTEARX
RIS =7 ar 75 9l FORIG: B X JEME 9 3 X S A R 8

= EEEHR
3. 15%

= BERPERAK
IS g oail iR
Py A AR 1 LEEES
By AL IR S5 AL I 25 3 4P 2 R 7 e DIl (0. 40, 1.00]
B e AT T K
g oRlll)iEE IR AP Ui B e VR g el b2 (1.00, 3.00]
BRI AT T 20K
e TR R PE R E DY . RGN IIE R, HAER K0 B
B HRZRRm; R IE SN + AR + IR + S RLE” 1) 2 4R,
PHENLI I 2 3 SR By A AR PEAL F-47 Mk A RTS8 KT, B T it e TR B R 8

2. REHH AR

T H R R
VA F G s T A A (0.60, 1.00]
v K e A A (1.00, 1.40]
B Ve 220 L0 A R A A (1.40, 1.60]
3. PRI &%
PREG &5 (o) IEEE
(0, 10000) (2.00, 2.50]
[10000, 20000) (1.00, 2.00]
(20000, 30000) (0.80, 1.00]
=30000 (0.50, 0.80]

4. FFEBRRAZ RS

TR RN 2L W R
<50 [1.35, 2.00]
(50, 100] [1.25, 1.35)
(100, 300] [1.15, 1.25)
(300, 1000] [1.05, 1.15)
(1000, 5000] [0.95, 1.05)
(5000, 10000] [0.85, 0.95)
(10000, 50000] [0.75, 0.85)




(50000, 100000] [0.65, 0.75)
> 100000 [0.50, 0.65)
5. 45n/ TS 2 R4
LG /T 2 TR
(0, 35%) (0. 35, 0.55)
[35%, 40%) [0. 55, 0.60)
[40%, 50%) [0.60, 0.75)
[50%, 65%) [0.75, 1.00)
[65%, 80%] [1.00, 1.50]
>80% (1.50, 2.50]
6+ BRSNS LRAR L R 2
Fe At EIT ORI k3
A 0.95
o 1. 00
7. FIEERE
FIEET (T0) TR A
[0, 1000) (0.90, 1.00]
[1000, 3000) (0.80, 0.90]
[3000, 5000) (0.60, 0.80]
>5000 [0. 40, 0.60]
8. MEAT L] %k
WA EL A1 T R AL
(90%, 100%] (1.00, 1.20]
(80%, 90%] (0. 85, 1.00]
(70%, 80%] (0. 70, 0.85]
(60%, 70%] (0.60, 0.70]
(50%, 60%] (0.50, 0.60]
<50% [0.30, 0.50]
9. TRIE RS E H KT 22
ESERNA=SLY e Vi R AL
IRTE A B B KT AR [0.6, 1.00]
S ENA=SLY S s (1.00, 1.40]
IRTE AR B B AP — (1.40, 1.80]

T ETRIEME. SR, e E R ERRNER, HRRAGEHEREX PR

MITRERE T B R KUK B 1K T 48, i E T R A

BRRRAEH YL



1. B HEERB ANERK R .
2+ FURBE RO MG BAER SR e B, RO 1. 0.
3+ HEE RHOTCK BBV BANE 38 P R RGN A, NARYE L3 9 R FR I EVE 7 LA

3

JE o



